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PRACTICAL ORGANIC 
CHEMISTRY 

1. fuEufyf[kr dkxt ØksekVksxzke esa nh x;h lwpuk 
ds vk/kkj ij % 

 
 A dk Rf eku _______ × 10–1 gSA 

2. uhps nks dFku fn, x, gSa : 
 dFku I  : DyksjksQkeZ rFkk ,sfuyhu ds feJ.k dks 

lk/kkj.k vklou ls i Fkd dj ldrs gSaA   
 dFku II : ,sfuyhu rFkk ty ds feJ.k ls ,sfuyhu 

dks ok"i vklou ls tc i Fkd djrs gSa rks ,sfuyhu 
vius DoFkukad ls uhps ds rki ij mcyus yxrh gSA  

 mijksä dFkuksa ds fy, fuEufyf[kr fodYiksa esa ls 
lokZf/kd mfpr mÙkj pqfu,% 

 (1) dFku-I vlR; gS ijUrq dFku II lR; gS 
 (2) nksuksa dFku -I rFkk dFku II vlR; gS 
 (3) dFku-I lR; gS ijUrq dFku II vlR; gS 
 (4) nksuksa dFku -I rFkk dFku II lR; gS 
3. fuEufyf[kr esa ls dkSu lk dFku vlR; gS ? 
 (1) ,d dkcZfud ;kSfxd esa lYQj dk vkdyu 

djus ds fy, dSfjvl uyh dk mi;ksx djrs 
gSaA 

 (2)  ukbVªkstu dk dkcZfud ;kSfxd esa vkdyu ds 
fy, dSfjvl fof/k dk mi;ksx djrs gSaA 

 (3)  dkcZfud ;kSfxd esa mifLFkr QkWLQksjl ds 
vkWDlhdj.k ls mRié QkWLQksfjd vEy dks 
esXusfl;k feJ.k feykdj Mg2P2O7 ds :i esa 
vo{ksfir djrs gSA  

 (4)  tSYMkWy fof/k dk mi;ksx dkcZfud ;kSfxdksa esa 
ukbVªkstu vkdyu ds fy, djrs gSaA 

4. ØkseSVksxSzQh rduhd esa ;kSfxd dh izkIr 'kq)rk 
ftlls Lora=k gS] og gS : 

 (1) xfr'khyrk vFkok foyk;d rU=k dk izokg 

 (2) ;kSfxd dh foys;rk 

 (3) dkye vFkok TLC IysV dh yEckbZ 

 (4) 'kq) ;kSfxd dh HkkSfrd voLFkk 

5. uhps nks dFku fn, gS : 

 dFku-I : eand xq.kd (Rf) dks ehVj@lsUVhehVj 

esa eki ldrs gSaA 

 dFku-II : ,d ;kSfxd dk Rf eku lHkh foyk;dksa 

esa fLFkj ¼leku½ jgrk gSA 

 uhps fn;s fodYiksa esa ls lokZf/kd mfpr mÙkj 

pqfu, % 

 (1) dFku-I lR; gS ijUrq dFku-II vlR; gSA 

 (2) nksuksa dFku-I rFkk dFku-II lR; gSA 

 (3) nksuksa dFku-I rFkk dFku-II vlR; gSA 

 (4) dFku-I vlR; gS ijUrq dFku-II lR; gSA 

6. ukbVªkstu dk tSYMky fof/k ls vkdyu fuEufyf[kr 

fdl ;kSfxd ds fy, fd;k tk ldrk gSA 

 (1)  (2)      

 (3)   (4)  

7. dSfjvl fof/k esa gSykstu;qDr dkcZfud ;kSfxd dks 

l/kwe ukbfVªd vEy ds lkFk ftldh mifLFkfr esa 

xeZ djrs gSa] og gS: 

 (1)  HNO3  (2) AgNO3  

 (3) CuSO4  (4) BaSO4 

8. mPp DoFkukad ds nzo dkcZfud ;kSfxd (DoFkukad 

ds lehi fo?kfVr gksrk gS) ds  'kqf)dj.k  ds  fy,  

mi;ksx dh tkus okyh rduhd dkSu lh gS\  

 (1) lkekU; vklou (2) ok"i vklou 

 (3) izHkkoh vklou (4) nkc ?kVkdj vklou 

9. lYQj ds ek=kkRed fo'ys"k.k esa] 0.471 g dkcZfud 

inkFkZ us 1.44 g csfj;e lYQsV fn;kA ;kSfxd esa lYQj 

dh izfr'krrk gS _____%. (fudVre iw.kkZad esa) 

 (Ba dk ijek.kq nzO;eku = 137 u)  

A

B
5cm

Solvent front

Spot Base line

2cm

2cm

vkjs[k : A B vkSj ;kSfxdksa dh dkxt ØksesVksxzkQh

N NClº —+
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10. gSykstuksa ds vkdyu dh dSfjvl fof/k esa ,d 

dkcZfud ;kSfxd ds 0.2 g ls 0.188 g AgBr izkIr 

gksrk gSA ;kSfxd esa czksehu dh izfr'kr ek=kk gS 

________. (fudVre iw.kkZad esa) 

 [ijek.kq lagfr: Ag = 108, Br = 80] 

11. N, N–MkbesfFky ,sehuksa isUVsu ds ,d uewus ds 

57.5 g esa] M~;wek fof/k ls ukbVªkstu dk vkdyu 

djus esa CuO ds eksyksa dh la[;k tks mi;ksx esa 

vk;sxh] og gS _____ × 10–2 (fudVre iw.kkZad esa) 

12. uhps  nks  dFku  fn,  gSaA  ,d  dks  uke  vfHkdFku 

(A) rFkk nwljs dk dkj.k (R) fn;k gS :  

 vfHkdFku (A) : izksisukWy rFkk izksisukWu ds feJ.k 

dks lk/kkj.k vklou ls i Fkd dj ldrs gSA  

 dkj.k (R) : nks nzoksa ftuds DoFkukadksa esa 20°C ls 

vf/kd dk vUrj gS mudks lk/kkj.k vklou ls 

i Fkd fd;k tk ldrk gSA  

 mijksDr dFkuksa ds lanHkZ esa] lokZf/kd mfpr mÙkj 

fuEu fodYiksa esa ls pqfu, : 

 (1) (A) lgh ugha gS ijUrq (R) lgh gSA 

 (2) nksuksa (A) rFkk (R)  lgh gSa vkSj (R) lgh 

O;k[;k ugha gS (A) dhA  

 (3) (A) lgh gS ijUrq (R) lgh ugha gSA  

 (4) nksuksa (A) rFkk (R) lgh gSa vkSj (R) lgh 

O;k[;k gS (A) dhA 

13. M~;wek fof/k esa gksus okyk :ikarj.k uhps fn;k gS % 

æ ö æ ö+ + ® + + + +ç ÷ ç ÷
è ø è ø

2 7 2 2 2

y z y
C H N 2x CuO xCO H O N 2x Cu

2 2 2 2
y

 

 y dk eku gS________A ¼fudVre iw.kk±d esa½ 
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SOLUTION 

1. Official Ans. by NTA (4) 

Sol. Rf = 
Distance travelled by compound

Distance travelled by solvent
 

 on chromatogram distance travelled by 

cmopound is ® 2 cm 

 Distance travelled by solvent = 5 cm 

 So Rf = -= ´ =12
4 10 0.4

5
 

2. Official Ans. by NTA (4) 

Sol. Statement 1 : B.P. of chloroform = 334 K 

      B.P. of aniline = 457 K 

 thus can be seprated of simple distillation. 

 Statement 2 : Mixture of aniline and water 

seprated by simple distillation. 

3. Official Ans. by NTA (2) 

Sol. Carius method is used in the estimation of 

halogen in organic compounds. 

4. Official Ans. by NTA (4) 

Sol. In chromotography technique, the purification 

of a compound is independent of the physical 

state of the pure compound. 

5. Official Ans. by NTA (2) 

Sol. Let the final temperature of the mixture be T. 

Since, there is no loss in energy. 

 DU = 0 

 Þ 1F

2
n1R DT + 2F

2
 n2RDT = 0 

 Þ 1F

2
n1R (T1 – T) + 2F

2
n2R (T2 – T) = 0 

 Þ T = 1 1 1 2 2 2

1 1 2 2

F n RT F n RT
F n R F n R

+
+

 Þ 1 1 1 2 2 2

1 1 2 2

F n T F n T
F n F n

+
+

 

6. Official Ans. by NTA (2) 

Sol. Kjeldahl method is not applicable to compounds 

containing nitrogen in nitrogroup, Azo groups 

and nitrogen present in the ring (e.g Pyridine) as 

nitrogen of these compounds does not change to 

Ammonium sulphate under these conditions. 

 

7. Official Ans. by NTA (2) 

Sol. Organic compound is heated with fuming nitric 

acid in the presence of silver nitrate in carius 

method. 

 Lunar caustic (AgNO3) is used as reagent hare 

to distinguish Cl–,  Br  and  I– respectively as 

follows. 

  Cl–(aq) 3AgNO¾¾ ¾® AgCl ¯ppt white 

  Br–(aq) 3AgNO¾¾ ¾® AgBr ¯ppt pale yellow 

  I–(aq) 3AgNO¾¾ ¾® AgI ¯ppt Dark yellow 

8. Official Ans. by NTA (4) 

Sol. Reduced pressure distillation or vacuum 

distillation is used for the purification of high 

boiling organic liquids which decomposes at or 

below their boiling point. 

9. Official Ans. by NTA (42) 

Sol. Molecular mass of BaSO4 = 233 g 

 Q 233 BaSO4 contain ® 32 g sulphur 

 \ 1.44 g BaSO4 contain ® 
32
233

 × 1.44 g 

sulphur 

 given : 0.471 g of organic compound 

 % of S = 
´
´

32 1.44
233 0.471

 × 100 = 41.98% » 42% 

OR 

 
OC

4
W 0.471g 1.44g

O.C. BaSO
=

¾¾¾®  

   Þ ns = 
4BaSO

1.44
n

233
=  

   s

1.44
w 32g

233
Þ = ´  

 therefore s

O.C.

W 1.44 32
%S 100 100

W 233 0.471
´

= ´ = ´
´

 

    
46.08

100 41.98 42
109.743

= ´ = ;  
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10. Official Ans. by NTA (40) 

Sol. 3
AgBr

0.188g
n 10 mol

188g / mol
-= =  

 Þ nBr = nAgBr = 0.001 mol  

 Þ massBr = (0.001 × 80) gm = 0.08 gm 

 Þ mass % = 
0.08 100

40%
0.2
´

=  

11. Official Ans. by NTA (1125) 

Sol. Moles of N in N,N - dimethylaminopentane 

 = 57.5
0.5mol

115
æ ö =ç ÷
è ø

 

Þ C7H17N + 
45
2

CuO ®7CO2 + 
17
2

H2O + 
1
2

 N2+

45
2

Cu 

  CuOn reacted

45
2

æ ö
ç ÷
è ø

= 7 17C H Nn reacted

1
 

 Þ nCuO reacted = 45
0.5 11.25

2
æ ö´ =ç ÷
è ø

 

12. Official Ans. by NTA (4) 

Sol. Both assertion & reason are correct & (R) is the 

correct explanation of (A) 

13. Official Ans. by NTA (7) 

Sol.   æ ö æ ö+ + ® + + + +ç ÷ ç ÷
è ø è ø

2 7 2 2 2
y y z y

C H N 2x CuO xCO H O N 2x Cu
2 2 2 2

 

 On balancing 

        + ® + + +2 7 2 2 2
15 7 1 15

C H N CuO 2CO H O N Cu
2 2 2 2

 

 On comparing 

 y = 7  

 

 


